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Solved Examples

1. Use Euclid's division algorithm to find the

HCF of (i) 135 and 225 (ii) 196 and 38220 (iii)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yosI70f8eULA

867 and 255

o Watch Video Solution

2. Use Euclid's algorithm to find the H.C.F. of

4052 and 12576.

° Watch Video Solution

3. Find the HCF of 55 and 210 . express it as a
linear combinaton of 55 and 210, i.e. HCF of 55

and 210= 210a +55b, for some a andb


https://dl.doubtnut.com/l/_yosI70f8eULA
https://dl.doubtnut.com/l/_ZMtdOjseiCX4
https://dl.doubtnut.com/l/_pdKEuiXHuaSm

° Watch Video Solution

4. Find HCF 65 and 117and express it in the

form of 656m+117n.

o Watch Video Solution

5. The decimal expansion of the rational
number 43/27(4)5”(3) will terminate after how

many places of decimals?

o Watch Video Solution



https://dl.doubtnut.com/l/_pdKEuiXHuaSm
https://dl.doubtnut.com/l/_XnTcNMZDHugA
https://dl.doubtnut.com/l/_CcGS2v5lucMF

6. Find the largest number , which divides 246

and 1030 leaving remainder 6 in each case.

° Watch Video Solution

7. Find the largest number that will divide
546,437 , and 400 leaving remainders 19 ,12

,and 9 respecting.

° Watch Video Solution



https://dl.doubtnut.com/l/_CcGS2v5lucMF
https://dl.doubtnut.com/l/_VjHeT4zid0IH
https://dl.doubtnut.com/l/_4n4VSueVOCOm
https://dl.doubtnut.com/l/_RwVFDBNF0FLG

8. Show that every positive even integer is of
the form 2q , and that every positive odd
integer is of the form 2q + 1, where g is some

integer.

o Watch Video Solution

9. Use Euclid's division lemma to show that the
square of any positive integer is either of the
form 3mor 3m + 1for some integer m.[Hint:

Let x be any positive integer then it is of the


https://dl.doubtnut.com/l/_RwVFDBNF0FLG
https://dl.doubtnut.com/l/_q5rSQUktg32X

form 3q, 3q + lor 3q 4+ 2Now square each of

these and sho

° Watch Video Solution

10. Use Euclids division Lemma to show that
the cube of any positive integer is either of
the form 9m, 9m + 1 or, 9m + 8 for some

integer m .

o Watch Video Solution



https://dl.doubtnut.com/l/_q5rSQUktg32X
https://dl.doubtnut.com/l/_G7iqHFNpo0tt

11. Show that one and only one out of n,( n+2)
and ( n +4) is divisble by 3, where n is any

positive interger.

o Watch Video Solution

12. Show that the square of an odd positive
integer is of the form 8¢+ 1, for some

integer q

o Watch Video Solution



https://dl.doubtnut.com/l/_br4m4JWyCvyM
https://dl.doubtnut.com/l/_wifMFmMTad5D
https://dl.doubtnut.com/l/_KoOexdEqe9P5

13. Any contingent of 616 members is to march
behind an army band of 32 members in a
parade. The two groups are to march in the
same number of columns. What is the
maximum number of columns in which they

can march?

o Watch Video Solution

14. There are 156, 208 and 260 students in
group A, B and C respectively . Buses are to be

hired to take them for a field trip. Find the


https://dl.doubtnut.com/l/_KoOexdEqe9P5
https://dl.doubtnut.com/l/_YAyfXDqDXo3R

minimum number of buses to be hired, if the
same number of students should be
accommodated in each bus and separate bus

for separate group is needed.

o Watch Video Solution

15. A sweet seller has 420 kaju barfis and 130
badam barfis. She wants to stack them in such
a way that each stack has the same number

and they take up the least area of the tray.


https://dl.doubtnut.com/l/_YAyfXDqDXo3R
https://dl.doubtnut.com/l/_lqXG4aaCvZsP

What is the maximum number of barfis that

can be placed in each sta

° Watch Video Solution

16. An electronic device makes a beep after
every 60 sec. Another device makes a beep
after every 62 sec. They beeped together at 10
a.m. The next time, when they would beep

together at the earliest is

° Watch Video Solution



https://dl.doubtnut.com/l/_lqXG4aaCvZsP
https://dl.doubtnut.com/l/_4xHz2wThhnIh
https://dl.doubtnut.com/l/_RDiBQiyQximQ

17. Express each of the following as a product
of prime factors:

(1) 140 (i)156 (iii) 3825

° Watch Video Solution

18. Find the missing numbers in the following

prime factorisation


https://dl.doubtnut.com/l/_RDiBQiyQximQ
https://dl.doubtnut.com/l/_MwalmVwi1Nni
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o Watch Video Solution



https://dl.doubtnut.com/l/_MwalmVwi1Nni

19.Show that 5 x 11 x 17 + 17 is a composite

number.

° Watch Video Solution

20. Find the HCF and LCM of the following
pairs using prime factorisation method:

(i) 140 and 154 (ii) 504 and 735

° Watch Video Solution



https://dl.doubtnut.com/l/_T8aJFkHFVST0
https://dl.doubtnut.com/l/_6jiN9CgXsuXB

21. Find the HCF and LCM of the following by
prime factorisation method :

(i) 12,18,24 (ii) 15,25,45

o Watch Video Solution

22.Find the LCM and HCF of the 26 and 91 and
verify that
HCF X LCM = product of the given two

numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_rGpVmfrjRMzu
https://dl.doubtnut.com/l/_owrRLDg6e03i

23. The HCF of two numbers is 23 and their
LCM is 1449. If one number is 207, find the

other number.

° Watch Video Solution

24. The HCF of 2472, 1284 and a third number
N is 12. If their LCM is

2% % 32 x 5 x 103 x 107. Find the number N.

° Watch Video Solution



https://dl.doubtnut.com/l/_owrRLDg6e03i
https://dl.doubtnut.com/l/_LLZDvwGDKNWD
https://dl.doubtnut.com/l/_4hifSxdawoHc

25. Given that HCF(306,657) = 9. Find

LCM(306, 657)

o Watch Video Solution

26. Show that 12" cannot end with the digit O

or 5 for any natural number n.

o Watch Video Solution



https://dl.doubtnut.com/l/_oiEeR5lY7V7b
https://dl.doubtnut.com/l/_j1EbKsg06Vc7

27. In a morning walk, three persons step off
together and their steps measure 40cm, 42cm
and 45cm, respectively. What is the minimum
distance each should walk so that each can

cover thesame distance in complete steps?

o Watch Video Solution

28. What is the smallest humber that, when

divided by 35,56 and 91 leaves remainder of 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_9CuUDvJJb6tq
https://dl.doubtnut.com/l/_uc88JO6cIbor

29. Find the greatest number of 5 digits

exactly divisible by 35, 56 and 91.

o Watch Video Solution

30. Three bells ring at intervals of 4, 7 and 14
minutes. All three range at 6 am. When will

they ring together again ?

o Watch Video Solution



https://dl.doubtnut.com/l/_uc88JO6cIbor
https://dl.doubtnut.com/l/_sOuZWfLfFOWc
https://dl.doubtnut.com/l/_FNBLae4hHp36
https://dl.doubtnut.com/l/_XAqkzwPcpLm9

31. Amar visits the recreation club after every
5days, Akbar visit after every 24 days, while
Anthony goes there after every 9 days. If all
three of them met at the club last on a
Sunday, then tall me O' student, on which day

of the week will all three meet again ?

o Watch Video Solution

32. Five bells begins to toll together and toll

respectively at intervals 6,7,8,9 and 12 seconds.


https://dl.doubtnut.com/l/_XAqkzwPcpLm9
https://dl.doubtnut.com/l/_8LIrKvJtP6Rj

How many times will they toll together in one

hour, excluding the one at the start?

° Watch Video Solution

Solved Example

1. Without actual performing the long division,
state whether the following rational numbers
will have a terminating decimal expansion or a

non-terminationg repeating decimal


https://dl.doubtnut.com/l/_8LIrKvJtP6Rj
https://dl.doubtnut.com/l/_4VGCBbNRUPQk

expansion :

12 7 11
M 125 M 1500 " 3125

° Watch Video Solution

2.Show that :
(1) 5 (i1) 1
" 950 " B0

are terminating decimals. Express each of
them in decimal form without actual division

(long division).

° Watch Video Solution



https://dl.doubtnut.com/l/_4VGCBbNRUPQk
https://dl.doubtnut.com/l/_8OTlGE1P8gGh
https://dl.doubtnut.com/l/_rxchEmoEcn7z

3. Show that each of the following are non-

terminating repeating decimal :

L I
(I)ﬁ(u)%

° Watch Video Solution

4. The decimal expansion of the rational
43
2* x 53

many places of decimals?

number will terminate after how

o Watch Video Solution



https://dl.doubtnut.com/l/_rxchEmoEcn7z
https://dl.doubtnut.com/l/_77hqFiepL7zJ
https://dl.doubtnut.com/l/_qIdU8el5dxgz

5. Express each of the following in the simplest

form :

(1) 0.6 (i) 3. 3

o Watch Video Solution

6. Express each of the following in the simplest

form :

(i) 0. 36 (ii) 1. 046

o Watch Video Solution



https://dl.doubtnut.com/l/_qIdU8el5dxgz
https://dl.doubtnut.com/l/_oiwGpjxigBmg

7. A rational number in its decimal expansion
is 327.7081. What can you say about the prime
factors of g, when this number is expressed in

the from P ? Give reason.
q

° Watch Video Solution

8. Prove that /2 is an irrational number.

° Watch Video Solution



https://dl.doubtnut.com/l/_HAwhV68AZoo2
https://dl.doubtnut.com/l/_eUprQKi49n9g

9. Prove that /11 is irrational.

o Watch Video Solution

10. Prove that for any prime positive integer

p, \/Pis an irrational number.

o Watch Video Solution

1. Show that (2+4/3) is an irrational

number.



https://dl.doubtnut.com/l/_4Po0fvMrqQ6o
https://dl.doubtnut.com/l/_fxXvd5NbBfor
https://dl.doubtnut.com/l/_hn9dezTsaUXP

o Watch Video Solution

12. Prove that 5./7 is irrational.

o Watch Video Solution

13. Show that the following numbers are

irrational. % (i) 74/5

o Watch Video Solution



https://dl.doubtnut.com/l/_hn9dezTsaUXP
https://dl.doubtnut.com/l/_HvN8Ti2HRQFg
https://dl.doubtnut.com/l/_1MdwhPKPOEOS

14. A rational number in its decimal expansion
is 327.7081. What can you say about the prime
factors of g, when this number is expressed in

the from P ? Give reason
q

° Watch Video Solution

15. Show that 12 cannot end with the digit O

or 5 for any natural number n.

o Watch Video Solution



https://dl.doubtnut.com/l/_BJ7PQhyMarde
https://dl.doubtnut.com/l/_mWytcnuXatsx

Problems From Ncert Exemplar

1. Write whether every positive integer can be
of the form 4q + 2 where q is an integer,

Justify your answer

° Watch Video Solution

2. The number 525 and 3000 are both divisible
only 3,515,25,75. What is HCF (525, 3000)?

Justify your answer.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_qtxCmMF9Ll5N
https://dl.doubtnut.com/l/_m3M2S56qNWz4

3. Can two number have 18 as their HCF and

380 as their LCM? Give reason

o Watch Video Solution

4. Show that the square of any positive integer
cannot be of the form ém+2 or 6m+5 for some

integer q.

o Watch Video Solution



https://dl.doubtnut.com/l/_m3M2S56qNWz4
https://dl.doubtnut.com/l/_SeVoVMNHDY8Y
https://dl.doubtnut.com/l/_RCfaNYQIU2EV
https://dl.doubtnut.com/l/_SlQrMxFxNBPF

5.Show that any positive odd integer is of the
form 6g+ 1 or 6g+ 3 or 6g + 5, where q is

some integer.

o Watch Video Solution

6. Show that the cube of a positive integer of
the form 6qg+r7,q is an integer and

r=0,1,2,3,4,5 is also of the form 6m-+r

o Watch Video Solution



https://dl.doubtnut.com/l/_SlQrMxFxNBPF
https://dl.doubtnut.com/l/_WvNaB07k5R8D
https://dl.doubtnut.com/l/_Id8kDhmsBkun

7. If n is an odd positive integer, show that

(n2 — 1) is divisible by 8.

o Watch Video Solution

8. Using Euclid's division algorithm, find the
largest number that divides 1251, 9377 and
15628 leaving remainders 1, 2 and 3,

respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_Id8kDhmsBkun
https://dl.doubtnut.com/l/_CVq6Bmnhzwax

9. Prove that ,/p + ,/q is an irrational, where

p and q are primes.

o Watch Video Solution

10. For any positive integer n , prove that

n> — n divisible by 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_C5eXtfRhLWYX
https://dl.doubtnut.com/l/_povbMJTe8T9O

1. Use Euclid division algorithm to find the

HCF of 441, 567 and 693.

o Watch Video Solution

1. Use Euclid's division algorithm , to find the

H.C.F. of the following : (i) 70 and 40 (i)

18 and 45

o Watch Video Solution



https://dl.doubtnut.com/l/_Jp73mE6jUDS4
https://dl.doubtnut.com/l/_Iqsul11s23jz

2. If the HCF of 408 and 1032 is expressible in

the form 1032 m — 408 x 5, find m .

° Watch Video Solution

3. Express the H.C.F. of 18 and 24 in the form of

18x + 24y.

o Watch Video Solution



https://dl.doubtnut.com/l/_Iqsul11s23jz
https://dl.doubtnut.com/l/_7jKZZ0dJUsFx
https://dl.doubtnut.com/l/_sxDeFkIRuAyM

4. Express the H.C.F. of 30 and 36 in the form of

30x + 36y.

o Watch Video Solution

5. Find the largest number that divides 1989
and 967 and leaves a remainder of 5 and 7

respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_8s7UW2HFCdHa
https://dl.doubtnut.com/l/_Us3pLm8oKSNU

6. Find the largest number that divides 189

and 249 leaving remainder 9 in each case.

° Watch Video Solution

7. Find the largest number that divides 280
and 1248 leaving remainders 4 and 6

respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_wuYLg5QPaPWw
https://dl.doubtnut.com/l/_z27BuQOH2XbV

8. Find the greartest number that divides 699
and 572 leaving remainders 6 and5

respectively .

o Watch Video Solution

9. Show that any positive odd integer is of the
form 4g+ 1 or 4g+ 3 , where q is some

integer.

o Watch Video Solution



https://dl.doubtnut.com/l/_2lyDzxNRVDIG
https://dl.doubtnut.com/l/_KmLgveoKvxsU
https://dl.doubtnut.com/l/_0KQSWLPfyxzx

10. Show that any positive integer is of the

form 3q or, 3q + 1 or, 3q + 2 for some integer

o Watch Video Solution

11. Show that every even positive integer is of
the form 6q or 6 + 2 or 6q + 4 for some

integer q .

o Watch Video Solution



https://dl.doubtnut.com/l/_0KQSWLPfyxzx
https://dl.doubtnut.com/l/_2SdW70v59XPy
https://dl.doubtnut.com/l/_m7H4sgFHk13j

12. Prove that every positive integer different
from 1 can be expressed as a product of a non-

negative power of 2 and an odd number.

o Watch Video Solution

13. Show that the square of any positive
integer is either of the form 4q or 4q+1 for

some integer q.

o Watch Video Solution



https://dl.doubtnut.com/l/_m7H4sgFHk13j
https://dl.doubtnut.com/l/_e55yllCsKN1s

14. Show that the square of any positive
integer cannot be of the form 5g+2 or 5gq+3

for some integer q.

o Watch Video Solution

15. Prove that one and only out of n,(n+2) and
(n+4) is divisible by 3, where n is any positive

integer.

o Watch Video Solution



https://dl.doubtnut.com/l/_bbGIPvbnxSp8
https://dl.doubtnut.com/l/_awaD3a6H2Cv4
https://dl.doubtnut.com/l/_kEd8asSZoyGn

16. There are 576 boys and 448 girls in a school
that are to be divided into equal sections of
either boys or girls alone . Find the total

number of sections thus formed.

o Watch Video Solution

17. The length, breadth and height of a room
are 8m and 25cm, 6m and 75cm and 4m 50cm,
respectively. Determine the longest rod which
can measure the three dimensions of the

room exactly.


https://dl.doubtnut.com/l/_kEd8asSZoyGn
https://dl.doubtnut.com/l/_M1vjXNyl2NBr

° Watch Video Solution

18. A sweet seller has 420 kaju barfis and 130
badam barfis. She wants to stack them in such
a way that each stack has the same number
and they take up the least area of the tray.
What is the maximum number of barfis that

can be placed in each sta

o Watch Video Solution



https://dl.doubtnut.com/l/_M1vjXNyl2NBr
https://dl.doubtnut.com/l/_aZ9mRtqrj4BQ

19. about to only mathematics

o Watch Video Solution

20.In a group there are 21 childrens, 35 ladies
and 49 gents. They all want to stay in same
hotel. Find the minimum number of rooms
required for their stay so that in each room
equal number of members stay with the
condition that children, female and male stay

in separate rooms.

| & I


https://dl.doubtnut.com/l/_2oEmDaPqT4Ks
https://dl.doubtnut.com/l/_5BqcoLEJ5UpI

| ¥ Watch Video Solution |

21. Three sets of English, Hindi and
Mathematics books have to be stacked in such
a way that all the books are stored topic wise
and the height of each stack is the same. The
number of English books is 96, the number of
Hindi books is 240 and the number of
Mathematics books is 336. Assuming that the
books are of the same thickness, determine
the number of stacks of English, Hindi and

Mathematics books.

| = |


https://dl.doubtnut.com/l/_5BqcoLEJ5UpI
https://dl.doubtnut.com/l/_hzKwPBcKDx4H

I &9 Watch Video Solution I

22. Find the HCF of 81 and 237 and express it

as a linear combination of 81 and 237.

o Watch Video Solution

23. Find the polynomials u(z) and v(x) such
that

(z* — 1) -u(z) + (2" — 1) - v(z) = (z — 1)

l o Watch Video Solution ‘


https://dl.doubtnut.com/l/_hzKwPBcKDx4H
https://dl.doubtnut.com/l/_6wF7zqytAt0i
https://dl.doubtnut.com/l/_jkBhVziePUS8

24. Six bells commence tolling together and
toll at interval of 2, 4 , 6, 8, 10, 12 minutes
respectively . In 30 hours , how many times do

they toll together ?

o Watch Video Solution

25.Find the greatest number of 4 digits which

is exactly divisible by 15, 24 and 36.

° Watch Video Solution



https://dl.doubtnut.com/l/_jkBhVziePUS8
https://dl.doubtnut.com/l/_BqVWKBc8BAsq
https://dl.doubtnut.com/l/_vFoo2w22VGs2

26. A number when divided by 143 leaves 31 as
remainder. What will be the remainder, when

the same number is divided by 13 ?

o Watch Video Solution

27.p and g are two positive integers such that
the least prime factor of p is 3 and the least
prime factor of q is 5. Find the least prime

factor of (p + q).

| & I


https://dl.doubtnut.com/l/_vFoo2w22VGs2
https://dl.doubtnut.com/l/_XpQZRrbT7Yr1
https://dl.doubtnut.com/l/_NOTQYNV8HkRC

| ¥ Watch Video Solution |

28. Express each of the following as a product
of prime factors:

(4)96(i7)84(i17) 150(iv) 240(v) 3072(vi) 324

o Watch Video Solution

1.  Explain why 7 x 11 x 13 4+ 13and

7TX6xXH5x4x3x2x1+4 5 are composite


https://dl.doubtnut.com/l/_NOTQYNV8HkRC
https://dl.doubtnut.com/l/_bxEYt8FlUNX7
https://dl.doubtnut.com/l/_TYW95sEMI3zG

numbers.

o Watch Video Solution

2. Show that 5 x 7 x 11 + 11 is a composite

number .

° Watch Video Solution

3. Find the HCF and LCM of the following by
prime factorisation method :

(i) 12 and 15 (ii) 20 and 25 (iii) 28 and 42


https://dl.doubtnut.com/l/_TYW95sEMI3zG
https://dl.doubtnut.com/l/_5lNlsSOsnBoF
https://dl.doubtnut.com/l/_eYviQdx6ruvO

° Watch Video Solution

4. Using prime factorisation method, find the
HCF and LCM of the following pairs. Hence,
verify HCF x LCM= product of two

numbers. (i) 96 and 120 (ii) 16 and 20

o Watch Video Solution

5. The HCF and LCM of two numbers are 145

and 2175 respectively. If the first number is 435,


https://dl.doubtnut.com/l/_eYviQdx6ruvO
https://dl.doubtnut.com/l/_gck6EAN2Zl35
https://dl.doubtnut.com/l/_GksbfT1GGUVq

find the second number.

o Watch Video Solution

6. The HCF and LCM of two numbers are 18 and
720 respectively. Find the product of two

numbers.

o Watch Video Solution

7. Is it possible to have two numbers whose

HCF is 20 and LCM is 6307 Give reason.


https://dl.doubtnut.com/l/_GksbfT1GGUVq
https://dl.doubtnut.com/l/_VMtZr8qmIdZc
https://dl.doubtnut.com/l/_CevffEk7kApD

° Watch Video Solution

8. Given that LCM (252,594)=8316. Find HCF

(252,594).

o Watch Video Solution

9. The LCM of two number is 192 and their

product is 3072. Find the HCF of two numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_CevffEk7kApD
https://dl.doubtnut.com/l/_vYkDB4avUQyf
https://dl.doubtnut.com/l/_0JGglMPZ4xRL
https://dl.doubtnut.com/l/_xSXxS1T7qJ8F

10. Check whether 6" can end with the digit O

for any natural number n .

o Watch Video Solution

11. Prove that there is no natural number for

which 4" ends with the digit zero.

° Watch Video Solution



https://dl.doubtnut.com/l/_xSXxS1T7qJ8F
https://dl.doubtnut.com/l/_P1OwLq6FCjAE

12. Three pieces of timber of lengths 63m, 42m
and 35m, have to be divided into planks of the
same length. What is the greatest possible

length of each plank?

o Watch Video Solution

13. Two tanks contain 735 litres and 504 litres
of water resepectively. Find the maximum
capacity of a container which can measure the

water of either tank an exact number of times.

| & |


https://dl.doubtnut.com/l/_UuqgFi2VERgn
https://dl.doubtnut.com/l/_UMC7vA1BxI19

| ¥ Watch Video Solution |

14. A circular field has a circumference of
360km. Three cyclists start together and can
cycle 48, 60 and 72 km, a day, round the field.

When will they meet again?

° Watch Video Solution

15. Write the missing numbers in the following

factor tree:


https://dl.doubtnut.com/l/_UMC7vA1BxI19
https://dl.doubtnut.com/l/_XyYFf6OwhdLH
https://dl.doubtnut.com/l/_LF09cI9MezM9

° Watch Video Solution



https://dl.doubtnut.com/l/_LF09cI9MezM9
https://dl.doubtnut.com/l/_mheP0Tj2jmTi

16. Find the greastest number of 5 digits

exactly divisible by 24 ;15 and 36.

o Watch Video Solution

1. By actual division, show that each of the

following rational numbers is a terminating

decimal. Express each in the decimal form:

17 (i) 24
22 x 53 " 625

(i)

o Watch Video Solution



https://dl.doubtnut.com/l/_mheP0Tj2jmTi
https://dl.doubtnut.com/l/_YbM7IL6kmNIt

2. With out actually performing the long
division, state whether the following rational
numbers will have a terminating decimal
expansion or a non-terminating repeating

decimal expansion :

L1764 029 129 6
() = () == (i) 272 (i) oy (V) 7 (Vi)
27
210

o Watch Video Solution



https://dl.doubtnut.com/l/_YbM7IL6kmNIt
https://dl.doubtnut.com/l/_pnRhFSqcZyl5

3. The decimal expansion of the rational
27
22 . 53

places of decimals ?

number

, will terminate after how many

° Watch Video Solution

4. Express each of the following as a fraction

in simplest form : (i) 0. 5 (ii) 1. 4 (iii) 0. 15

o Watch Video Solution



https://dl.doubtnut.com/l/_p7gM1xViBe1A
https://dl.doubtnut.com/l/_FjWhY4oaELKU

5. What can you say about the prime factors of

their denominators ? (i) 12123456789 (ii)

12. 123456789

o Watch Video Solution

6. Prove that /3 is irrational.

o Watch Video Solution

7. about to only mathematics



https://dl.doubtnut.com/l/_BrgwW5LVRhgu
https://dl.doubtnut.com/l/_geGAuXsQx7TA
https://dl.doubtnut.com/l/_L2JnCFlw63wB

o Watch Video Solution

8. Verify by the method of contradiction that

/T is irrational.

o Watch Video Solution

9. If the HCF of 408 and 1032 is expressible in

the form 1032 x 2 + 408 x p, then find the value

of p.

o Watch Video Solution



https://dl.doubtnut.com/l/_L2JnCFlw63wB
https://dl.doubtnut.com/l/_t9JyF2uAFGDc
https://dl.doubtnut.com/l/_6ez8CBaaHTKn

10. State whether the given statements are
true or false:

(1) The sum of two rationals is always rational.
(i) The sum of two irrationals is always
irrational.

(i) The product of two rationals is always
rational.

(iv) The product of two irrationals is always
irrational.

(v) The sum of a rational and an irrational is

always rational.


https://dl.doubtnut.com/l/_6ez8CBaaHTKn
https://dl.doubtnut.com/l/_O0390pyAQHSp

(vi) The product of a rational and an irrational

is always irrational.

° Watch Video Solution

11. Give an example of :
(i) Two rationals whose sum is rational.
(ii) Two irrationals whose sum is rational.

(iii) Two irrationals whose product is rational.

o Watch Video Solution



https://dl.doubtnut.com/l/_O0390pyAQHSp
https://dl.doubtnut.com/l/_4LNab9wLDV1s

12. Find the HCF (865, 255) using Euclid’s

division lemma

o Watch Video Solution

Revision Exercise Very Short Answer Questions

1. State Euclid Division lemma

o Watch Video Solution



https://dl.doubtnut.com/l/_bHvlj6OA82XB
https://dl.doubtnut.com/l/_idbDyrGcmDcX

2. State division algorithm to calculate HCF.

o Watch Video Solution

3. Express 120 as the product of prime factors.

o Watch Video Solution

4. Express 75 as the product of prime factors.

o Watch Video Solution



https://dl.doubtnut.com/l/_GScNrEpOLKpf
https://dl.doubtnut.com/l/_EUfpcbv1LuQo
https://dl.doubtnut.com/l/_joolPLnKiAL7

5.Find : H.C.F. (3, 5)

o Watch Video Solution

6.Find : LC.M. (3,5)

o Watch Video Solution

7.1f a and b are relatively prime numbers, then

what is their HCF?

o Watch Video Solution



https://dl.doubtnut.com/l/_4LhrOs5OBOE1
https://dl.doubtnut.com/l/_6gMGPigNU64M
https://dl.doubtnut.com/l/_ZNZTShAvPJza

8. Write the H.CFF. of the smallest composite

number and the smallest prime number.

o Watch Video Solution

13

?
2 x 52

9. What is the decimal expansion of

° Watch Video Solution



https://dl.doubtnut.com/l/_ZNZTShAvPJza
https://dl.doubtnut.com/l/_9FhPMYvlIUoF
https://dl.doubtnut.com/l/_SpbstM4riG23

10. If a and b are relatively prime numbers,

then what is their LCM?

o Watch Video Solution

11. Give an example of two irrationals whose

sum is rational.

o Watch Video Solution



https://dl.doubtnut.com/l/_MO95m4iUrNWU
https://dl.doubtnut.com/l/_Kfqj1MMHwsWa

12. Give an example of two irrational numbers

whose sum is rational

o Watch Video Solution

Revision Exercise Short Answer Questions

1. Express 0. 7 in the simplest form.

o Watch Video Solution



https://dl.doubtnut.com/l/_9OAgfBWmmQln
https://dl.doubtnut.com/l/_Pf7DN947cK7C

2. Express 1. 2 in the simplest form.

o Watch Video Solution

3. about to only mathematics

o Watch Video Solution

4. Find the largest number which divides 320
and 458 leaving remainders 5 and 8

respectively.



https://dl.doubtnut.com/l/_uwcversYKpdf
https://dl.doubtnut.com/l/_IQM4ZfEkzV47
https://dl.doubtnut.com/l/_ZxZxpmIgDVY8

o Watch Video Solution

5. The smallest number which when divided by
28 and 32 leaves remainders 8 and 12

respectively

o Watch Video Solution

6. Find the greatest number of 3 digits which

is exactly divisible by 12 and 15.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZxZxpmIgDVY8
https://dl.doubtnut.com/l/_7p4leZFJyHN1
https://dl.doubtnut.com/l/_b5m279JnXgWA

Short Answer Questions

1. Show that 1 + /2 is irrational.

o Watch Video Solution

1
2.Show that — is irrational.

V5

o Watch Video Solution

Revision Exercise Long Answer Questions


https://dl.doubtnut.com/l/_b5m279JnXgWA
https://dl.doubtnut.com/l/_ZAnb0CXY9Srn
https://dl.doubtnut.com/l/_oNc8qcf5Wfzz

1. Prove that if x and y are odd positive
integers, then z* + y? is even but not divisible

by 4.

° Watch Video Solution

2. about to only mathematics

° Watch Video Solution



https://dl.doubtnut.com/l/_BCgyVHOKZWqE
https://dl.doubtnut.com/l/_uRWWGOYejmoI

3. Prove that if a positive integer is of the form
6g + 5, then it is of the form 3q + 2 for some

integer g, but not conversely.

o Watch Video Solution

4. Prove that the square of any positive
integer is of the form b5q, 5g + 1, 5q + 4 for

some integer q.

o Watch Video Solution



https://dl.doubtnut.com/l/_DNXQhhzYT0hG
https://dl.doubtnut.com/l/_c5v95PUDwxk4
https://dl.doubtnut.com/l/_2FYdA1PQjAIl

5. Show that the square of an odd positive
integer is of the form 8¢+ 1, for some

integer q

o Watch Video Solution



https://dl.doubtnut.com/l/_2FYdA1PQjAIl

